9 TIMES-TABLE (—
AND DIVISION .
FACTS







1) How many grapes?

S HEY

2) 9 X 2ones=
9 X 2tens =
9 X 2 hundreds =

3) 9Xx2=
9 X 20=
9 X 200 =

4) 210 — 21 =

White



1) How many grapes? 9+94+9+4+9+9=45

9 X 5=45
D% BCF o
2) 9 X 2ones= 18 ones 000000000
9 X 2 tens = 18 tens Q00000000
9 X 2 hundreds = 18 hundreds

3) 9x2=18
9 x 20 =180
9 X 200 = 1,800

4) 210 — 21 = 189

White
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9+9=18

2 X9=18
00X 2=18
18 =9 =2
18 =2 =09

White



Rose
Tens Ones

B
0X9=0
1X9=9
2 X9=18
3X9=27
4 X9 =36
5X9 =145
6X9=54
7 X9 =63
8 X9 =72
2OX><99_=8§1)O Haveathinkm
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9 18 27 36 45 54 63 72 81 90 99 108
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9 18 27 36 45 54 63 72 81 90 99 108



45

O X 4 =

36




12

45 90

X 9 =108



White

10 Mhcrtns
19‘+/@ Have 2 think L
T——
o | 18|27 |36 | 45154183 [ 72| 81|90 | 9508
27
‘J& 36 What pattgrns
b 45 do you notice?
—1

" Soto find the next | >4 Ones decrease by 1

multiple of 9 | can add||_©3  Tensincrease by 1
10 and subtract 1 /2

——~ 81  Whytiisthiwthe
| 90 thageie?
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9

18

21

24

27

30

33

36

X
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63

72

31

90

99

108

3X4=12

9)(4

So if | know my 3
times-table | can
multiply that by 3



X1l X2 X3 X4 X5 X6 X/ X8 X9 X10 X11 X12

20 30|40 (50|60|70|80|90|100(110/220

-1 -2 3| 4| 5]—-6]|-7]|-8]|-9]|]-—-10] —-11]—-12

v A 4 \ 4 v A 4 A 4 A 4 A 4 A 4 v A 4 \ 4

9 1182736455463 (72|81|90|99 (108

So | can multiply |
Whatdoyour py10andthen |t ‘D

©
‘F subtract 1 lot




| know that 21 X 10 = 210
210 — 21 =189
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Have a think I I

21 X 9

21

S



| know that 21 X 10 = 210
210 — 21 =189

21 X3 =63
63 X 3 =189

21 X 9 =

000000000000000000000| 21 X 3

9 ©00000000000000600006| 63 X 3
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21 X3 =63

|

)
00
i
I
o
|_|
o
00
i

63 X 3 =189

21

(@)

\ 000000000/

9 X 10

9 X 10
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Have a go at the questions
on the worksheet




